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A (5) A-B=0+4+1=5
> (6) A-B=3+0+2=5
€, (VA B=2+4+0=6
S (8 AAB=1+2+0=3
< e,
8 A= (A1, A, A3) B = (Bu, Bs, Bs)
9 ee cosf — A-B _ A1B1 + AyBy + A3B3
r |A||B| \/A}+ A2+ AZ\/B} + B3 + B}’
SO N (A-B)?=A%B?cos?0 < A’B2=| A’ B|>?. ( 0<cos’6<1)
AN
X
s (’!‘, 97 ‘b) €r X ey =€y (AlBl + AQBQ + A333)2 < (A% + A% + Ag) (B% + B% + Bg)
9 A-B=|A| B]cost
6 g AB_ AB.+AB,+AD.
(a-V)b=(az, ay, a.)- (c’)ﬁ’ (37 (92) (bas by, b2) |A|lB| A2 + A2+ AZ\/B,; + B, + B,
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P P 8@/ B 2+ (—12) +12 2 1
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_(a 6bm+a 8bx+a b, u Bbera Bby+aaby " 8bz+a 8b2+a8bz
T\ ox Yoy 0z Toxr | Yoy 20z’ " Oz Y oy * 0z _ .1 A-B ooy _ o
6 = cos A B = cos I =1.499 [rad.] =85.9
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10 A B A-B=0

a-V#V-a A-B=2+0+(-2)=0.

A:(2a37_1) B:(17072)

11 (1) A x B =(26,2,-10) (2) Ax B=(3,-3,1) (3) Ax B = (—4,-1,2)

T AB=2+(-12)+12=2 4) AxB=(0,0,1)(5) Ax B =(0,1,-2) (6) Ax B=(1,-1,-1)

(2) A-B=0+1+0=1
(3)A-B=14+0+6=7 12
(4) A-B=0+04+0=0



(3
/ i{Ay(Bny - B?/Cat) - Az(Bsz - Bmcz)}
=i {B,(A,C, — A,Cy — A,C.) — Co(A,B, — A B, — A.B.)}
=iB,(A-C)—iC.(A-B)

15 (1) BxC=(0,1,1) Ax (BxC)=(5-1,1)
(A-C)B - (A-B)C = 4(2,-1,1) —

13 ?
(—=3)(=1,1,-1) = (8, —4,4) — (3,-3,3) = (5, —1,1) =
x B
(2) AxB=(-1,-7,-5) Ax(BxC)=(12,4,-8)
(87 7474) - (747 -8, 12)
= (12747 78) =
16
AxB A B A B
i (AXxB)xC=-Cx(AxB)
AxB=|2 1 1 |=3-3j-3k=(3-3-3) 17
1 -1 2
AxB | Ax B |=/37+ (321 (-3)% = V27 = 3V3 18
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14 A= (A,, A, A.) B=(B,,B,,B.) C=(C,C,C:)
B x C = (B,C. — B.Cy, B.C, — B,C., B,C, — B,Cy,)
i J k 19 |a| = V212102 =5 e
Ax(BxC)= A, Ay A, ol V5
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A—-V B—-V C—-A

V(00) = o (6w)i + (o0 + 9 ww

— (o5 + 3t ) (50405t )a+ (o5 + 5 )

,d)(a_w +6_7,ZJ

= oV + ww‘
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(3% — yz) (3% — y2) (3% — yz) k
ox oy dz
=6z1 — 25 —yk

(z,y,2)=(1, -1, 1)

6i—j+k=(6-1,1)

0 0 0
835(30 +y +22)1/21+8y(m +y?+ 2 )1/23+8 (22 +y* + )%k
1 2x 2y 1 2z k
2(q:2+y +z2)1/2 (:c2+y2+z2)1/2J 2 (22 +y2 4 22)1/2
=iy g] +2k
T T r
(y,2) v
I
r=(z,y,2)

24 r=xi+yj+ zk

=

25 6 = olr) =
Vo =Vr=r/r|
n=-—1

26

dr = dzi + dyj + dzk = (dz, dy, dz).

0d 0 O
Vo dr = (a—‘ﬁa—j a—¢) - (dx, dy, d2)
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43
o V6 = Vé(u) = ¢'(u)Vu

d
V(") = %(T")Vr =nr" vy

= nr"2p,

exp 4(=2%)
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